WM —EES AIl'TAL

HmE—mEE
A iT %5
FEEKEL: PE 6 [
DRSS QEgENR QEmERS
PM. FiREE PE: TH=& PP. B% PV: LB B Fefs AEEX JEFIMS
‘ ‘ B0:. W& PM
= =0: K& g0 e . P
B A At N S N ol wmows  HE
%PY; YEI=&@ %PZ: +Z00@ B0, 2@ P
B =" 3 & D. & e
== ah. B8 5T
TEHHE
\ |
ORERS @QBEOR OEEFOZ OHERS
PG: BUEEIE PZG: TTREIDE PEW. TRURESE | PYW. YEURESE | PGJ: MITRAEE Fers | HerY
: = : : : : R SRR
1 LSS ﬁ i | I — 4: O4mm | m | FO: K %% ?ﬁ%
: = ! : : 6: ®6mm 6" Gemm T
PEG: TAUERZ=)® PKG: B/FTE | PHK:. TJeR/ATUE  PHD: oieREre ?6,°§T0”:nm 8 ®8mm |
= ' ' ' | 12: ®12mm 10: O10mm D. @ 1}£§D @
IiVE“' ¥ ] : VR 28
i N |
Familig HERAERER
ERAENEE 0~10kgf/cm*(0~1.0MPa) o 2 5 EEOE BEEOENI
AE —750mmHg(10Torr) R S o4 o6 o8 ®10
RIS 1.5MPa zg .
ERRESEE (C) -20~70 PG P o o
R ERRETIPUE PG ©10 ° o
i) RE/2RE ®12 ® ®
o4
PEG 6 L
o PEW o8 °
=R e 1 .
R R 012 ° °
1. WEELRIFTRANASH, JEBRTRENE; 04
2. EEIMESIE, T —NBTFSESNARS; ®6 L
3. MBI, TEISSENEESEIAR; P26 = e =
4 REBEEBHERE, SEERDHRSTIRXMA. ©12 o
o4
. o6 °
2k PKG o8 °
©10 °
PMZEJ3I FS & HE 12
1 3) (5 7)(8 1 PBR D POM 04
2 BUW | B PHK 06
o8 °
3 SPERS | AW PHD ©10 o
| 4 TEIEE POM 012
5 SR04 NBR
6 NN BE o HEOE
; BEE NER PR3l o4 06 o8 ©10 | 012
) (4 3 — = ma PE. PY. PV. PU. PM. PL
8 | NEMIRIE | B5s M. PP. PZ ) ) ) ® )

Q 267




W T —E# AIl'TAL
RE—EEX

SpEBIRE
PER5I . pumsl
=== | | ) Q.
‘ = & i A e | \/, i
o e ‘ 2-K & : 1
4 % o § W i — T 1. f i
™ f I
i i S8 o
3-K N
3-E
MEVEE oD 0P| K | E | ©J | JB [ER(9) | MEVEE | oD| 0P| K | A |ER(g)
PE4 4 9 14 17 | 3.2 | 6.5 3.1 PU4 4 9 14 1295 1.7
PEG 6 |12.5/16.5| 20 | 3.2 8 6.1 PU6G 6 |12.5/16.5| 34 3.6
PES 8 15 118.5| 23 | 4.3 | 9.5 8.8 PUS8 8 15 /18.5/38.5 5
PE10 10 18 21 |26.5 4.3 11 13.8 PU10 10 18 21 43 8.1
PE12 12 21 23 30 | 4.3 | 13 21 PU12 12 21 23 | 47 12

mevEe oD 0P| C | K | ©J | JA | DC |EE(g) - mews/ob] M | A| K| L | E GA[3iaG ER()

PY4 4 9 3156 14 | 3.2 13 | 10 3 PM4 4 M12X1, 29 | 14 | 10 | 7 4 14 6.2
PY6 6 [12.5] 37 |16.6| 3.2 |16.6| 12 6 PM6 6 'M14X1, 34 |16.5/10.5| 11 | 4 17 9.5
PY8 8 16 1425/118.5| 3.2 | 17 |145| 8.6 PM8 8 'M16X1, 38 |18.5/11.6| 13 | 4 19 15.7
PY10 10 | 18 |48.5| 21 | 43 |19.5] 18 14 PM10 10 [M20X1| 43 | 21 (126 16 | b 24 22.5
PY12 12 | 21 |54.5| 23 | 43| 21 |20.5| 21.2 PM12 12 |M22X1|46.5| 23 [13.56|17.5| 6 27 29.5

PLM#ZR I EA
2-K

| ! i 1Tl e % 3

~ ¢ IR S R O

XX U 3 1
Q.- NNGase

‘ °J 7 - olgmae N

oas-snnll

2-oD

N
0

I |
|
2-0P

|

BME\FS | oD | ©oP| K E oJ | JB HFE(g) BME\FS | oD OP M L | E| K EA| EB|GA3iAG 3fitH EE(g)
PV4 4 9 14 | 17 | 3.2 | 6.5 1.9 PLM4 | 4 | 9 [M12X1| 12 7.5/ 14 | 17 | 31 | 4| 14 14 7.5
PV6 6 12.5/16.6| 20 | 3.2 8 4.2 PLM6 6 12.5M14X1{12.6/8.5/ 17 | 20 |36.6| 4 | 17 17 121
PV8 8 15 |18.56| 23 | 43 | 9.5 6 PLM8 8 | 156 |M16X1/13.56| 9 [18.5/ 23 | 39 | 4 | 19 19 16.6
PV10 10 | 18 | 21 |26.5| 4.3 | 11 9.3 PLM10 | 10 | 18 |M20X1|14.5/11| 21 |25.56/44.56|/ 5 | 24 22 26.2
PV12 12 | 21 23 | 30 | 43| 13 | 146 PLM12 |12 |21 |M22X1|{15.5/11| 23 129.5 48 | 6 | 27 24 34

V4 268



W T —E# AIl'TAL
RE—EEX

PYWZ# 5] | PEG#ES5I
DC rommmmmmm e
2-0DB | P ©DBEEIRF)
3 P 4-JB
| - I [ \Im ! ! ' ‘
o Y ‘(‘ 3 e
I P | O
AL : s S ====1 Y
fpjj T i | m L
ffffffffffffffffffffffffffff L an A
M ) o T
o }/ a
| — _ | | e
| g o
] i
= 2-kA | &5
O DA elm
2-EA ‘
3-0P ol
HE\BE [ODA ODB| C | OP | KA | KB | ®J | JA | DC Ei&(g) | R E\f%5S oDA oDB| ©oP| KA | KB | EA | EB | ®J | JB E&l(g)
PYW6-4 | 6 | 4 [36.512.5/165| 14 | 32| 15 | 12 | 5.8 | PEG6-4 | 6 | 4 12.5/16.56 14 [20.0 195 3.2 | 8 | 7
PYW8-6 | 8 6 | 42 | 15 |185|16.5| 3.2 (165 145 9.1 | PEG8-6 | 8 | 6 | 15 18.5/16.5/22.5| 22 | 43 |95 22.8
PYW10-8 | 10 | 8 (485 18 | 21 |185| 4.3 | 19 | 18 | 141 | PEG10-8| 10 | 8 | 18 | 21 |18.5/25.5/25.5| 4.3 | 11 | 15.1
PYwi2-8 | 12 | 8 | 54 | 21 | 23 |18.5| 4.3 [20.5/20.5| 22.3 | PEG12-8| 12 | 8 | 21 | 23 [185| 29 |285| 43 | 13| 2.2
PYW12-10| 12 | 10 |54.5| 21 | 23 | 21 | 43 | 21 |205 21.7 ' PEG12-10| 12 | 10 | 21 | 23 | 21 | 29 | 29 | 43 |13 | 215
PZZ5I : | PEWER3I
2-A | P O DAEEE DR
Jc P 4-JB
: i | ]
% 2-0J : : 2-0J
‘ | | - )
A 3 ; 35 o ¢
o —NF4 7 o e i — iGBQ | ﬁ
L o =1 It —
S ; o1 g |W- N
S | L HEYAHEH | S
L = . -
P LN
w 2-K8 o H
! 0
o
BEHS oD A [0P| K | ©J | JB | JC EE(g) . WSS [0DA/0DB| OP | KA | KB | EA | EB | ©J | JB E&lg)
PZ4 4 |34 9 | 14326513 | 3.9 ! PEW6-4 | 6 | 4 |125|165/| 14 | 20 195|322 |8 | 7
PZ6 6 |39.5/12.5/16.5/ 3.2 | 8 | 16 | 7.9 . PEW8-6 | 8 | 6 | 15 [18.5 165|225 22 | 43 95| 228
PZ8 8 | 46 | 15 [18.5/ 4.3 | 9.5 | 19 | 11.1 ! PEW10-8| 10 | 8 | 18 | 21 |185 255|265 43 |11 15.1
PZ10 | 10 |52.5 18 | 21 | 43| 11 | 22 | 175 | PEW12-8| 12 | 8 | 21 | 23 [185| 29 |28.5| 4.3 [13] 2.2
Pz12 | 12 |59.5) 21 | 23 | 43| 13| 26 | 26.6 ! PEW12-10 12 | 10 | 21 | 23 | 21 | 29 | 29 | 43 [13] 215
pGR®m . pPR®”
¢ @ | L | |
0 O 3 | A 3 :
il il : : o : :
] A o ! i 3 L ! i
3 KA k8 _| & ; <I ] 5 i \
o G ; st - 1S | 1
< - o
o 4 - | . L 1 o
e ©
BE\S (ODA/0DB/OPA/OPB| KA | KB | A E&Elg) | ®SEES| oD oPA/OPB] L | A EE(g
PG6-4 | 6 | 4 |1255 9 |16.5| 14 (335 2.7 3 PP4 4 | 5 | 3 |15 [275 0.7
PGs-4 | 8 | 4 | 156 |125/1855| 14 (375 45 | PP6 6 7 | 3 |17 32/ 009
PG8-6 | 8 | 6 | 156 |12.5 185|165 38 4.5 3 PPS 8 9 | 4 |18 | 36| 1.6
PG10-6 | 10 6 18 | 15 | 21 |16.6| 42 | 6.9 ; PP10 10 | 11 5 20 | 42 25
PG10-8 10 8 18 15 | 21 |18.5/42.5| 6.7 ; PP12 12 13 6 23 | 44 4.3
PG12-8 | 12 | 8 | 21 | 18 | 23 [18.5/46.5| 10.3 |
PG12-10 | 12 | 10 | 21 [ 18 | 23 | 21 | 47 [ 10.2

V4 269



W T —E# AIl'TAL
RE—EEX

PGIRSI  PZGESI

P
®DB
L
\
|
[

40P

|
®DA
JB
@)
[Tt Al
‘_
AR
1
2-0DB
%

L T Nt -
g \ 2-KB
|
T~ 2-0©DA
BE\FS (0DA/ODB| 0P | K | L | A [E&(g) .~ BsvS oDA/oDB) A | ¢ [ oP | KA | KB | ©J ]| JB |JC [EE(g)
PGJ6-4 | 6 | 4 | 9 | 14 | 21 35| 1.5 | PzG6-4 | 6 4 | 39 (395125165 14 32| 8 |16 82
PGJB-4 | 8 | 4 |125| 14 | 22 | 39 | 2.6 | PzGs-6 | 8 6 |45 | 46 | 15 |18.5/16.5 4.3 | 95 19| 12
PGJB-6 | 8 | 6 |12.5/16.5| 22 39.5| 3.2 . P2G10-8| 10 | 8 | 52 [52.5] 18 | 21 |18.5| 4.3 | 11 |22 | 18.1
PGJ10-6 | 10 | 6 [ 15 [16.5] 25 | 44 | 4.1 | PZG12-10 12 | 10 | 59 |69.5| 21 | 23 | 21 | 4.3 | 13 |26 | 29
PGJ10-8 | 10 | 8 | 15 185 25 |445| 3.9
PGJ12-8 | 12 | 8 | 18 185 26 |48.5| 6.2 §
PGJ12-10| 12 10 18 21 26 49 6
PHK % 5l ~ PHD®5I
3-0PB
4-0PB
3-0D8
T 4-0DE
! I ] 13 — ‘ ‘
el e e <
w | | [ [ - w 4
REIREIni 5
r B I 1 1 L <<
' ala
“ ‘ |_bc| bc| bc || 2-KA|ele
L L A A
| bc pc | | 2-xA
I 1
A

BIS\¥S ODA ODB| A [OPA[©PB| KA [ KB [ DC | E [E#&(g) HES\S [0DA ©oDB| A [0PA[OPB| KA [KB |DC| E EEl(g)
PHK8-6 | 8 | 6 | 75 | 14 | 125|185 165 155 25 | 284 . PHD8-6 | 8 | 6 905 14 |12.5/18.5/16.5 155 25 18.7
PHK10-8| 10 | 8 [855| 17 | 15 | 21 |18.56]16.5|29.5| 45 ' PHD10-8| 10 | 8 [102.5] 17 | 15 | 21 |18.5/16.5/29.5] 52.7
PKG %5 I .
JC 3 |
3-0PB m
3-0DB i |
2-0J < = ;
o e : /#o :
el 1 |
N e
N

RE\FS ODAODB A OPAO®PB KA|KB ®J JB|JC DC| E E&(g)
PKG6-4| 6 4 585125 9 (165 14 (3.2) 8 |34 |10 175 8.6 |
PKG8-6| 8 6 |69 15 |12.5/18.5/16.5/3.2/9.56/40 | 12 | 21 | 13.5
PKG10-8/ 10 | 8 |80 | 18 | 16 | 21 |18.5/4.3| 11 |48 [14.5/ 24 | 20.7

Py




WM —EES AIl'TAL
R — R

R AT 5
EI; p %31)@
ﬁD ‘ |
DHERS Q@B QBN @FBERE
BB: WNRNER 1 BD: WYNRIENE DE1] ‘BU; BARBRYEE (BZ: ONNAIBSKDE2] | g1, prisg 01. PT1/8
} , N —— R 02: PT1/4 02: PT1/4 =0, PTS
YEig g }ﬁ HE et EE A NER - 03. PT3/8 03. PT3/8 =8
%i}ll Baul 2ol 3 A — Byl 3 ERRA 04:. PT1/2 04: PT1/2

DE11 BDRIIDP, ERRLEENRIMG, ERRIIBINRING; [E2] BZRIIP, TEBRYIEBIN, EEBRMEINRING,

= amig HEImEZIBYRER
ERENER 0~10kgf/cm’(0~1.0MPa) . EEE g
Em&Rl EIZE LU
AE —750mmHg(10Torr) " 01 02 03 04
R &) 3.0MPa 01 ® ° °
ERREEE (0 0~150 BB > ® . .
04 °
01 ° ° °
02 ° °
BD
it 03 °
04
1. AAESWASHE, [TEUATEXTDRS o1 hd
2. RBMEENE, TBISSENRESEIRE; BU gg A R
3. EEOVIERTLERASER, WABEER ; 04 °
4. EREELEHTERME.
E IR
= |
L LS 01 02 03 04
BZ ° ° ° °
SpERELHE
BBRS B — o BDREL B
o P : :
H ) ! lJ 7
T1I] o (&7, 9
E w4 .
v
BMEVEE | RA RB | LA | LB | C | 3fizH |E&(g) ‘
BB0101 PT1/8 | PT1/8 | 7.5 | 7.5 | 19.5 10 6.6 | RMEFE | RA RB LA | LB Cc 358H Z=(g)
BB0102 PT1/4 | PT1/8 10 7.5 1225 14 12.1 BDO0102 | PT1/4 | PT1/8| 10 3 145 14 3.8
BB0202 | PT1/4 | PT1/4 | 10 | 10 | 25 14 | 14.6 | BDO0104 | PT1/2 | PT1/8| 14 | 8 195, 21 | 33.1
BB0203 | PT3/8 | PT1/4 | 11 | 10 |26.55| 17 | 20.3 800203 [PT3/8 [PTal 11 T 17 Tie T3 1 127
smom | ot [Pric e [ Lo [ e | Sovss Frim e s | 11 105 31 300
BBos0s TFTi | Pras a1 3 o 560 BD0304 | PT1/2 | PT3/8| 14 | 12 | 19.5| 21 | 22.5

BB0404 | PT1/2 | PT1/2 | 14 | 14 | 34 21 42.8

BUR3 o BzRESI
| e | P H : i |
I \EI I ]
) R
i i _
i R ,
I
BS\ES| R L Cc | atiH BS\HS| R L C [3izH| E&(g)
BUO101 | PT1/8 8 17 14 BZ01 PT1/8 | 7.5 11 10 4.6
BU0202 | PT1/4 11 23 17 BZ02 PT1/4 | 10 14.5 14 10.8
BU0303 | PT3/8 12 25 21 BZ03 PT3/8 | 11 16 17 17.4
BU0404 | PT1/2 | 13.5 28 25 BZ04 PT1/2 | 14 | 196 | 21 33

P4 271




WM —EES AIl'TAL
R — R

R an 3T 19 65

BKC 06 04-01 []

®

DRSS QFEEINE QEENE @EZRY BFRRS
. 5 25: ®2.5mm
BKC: 9iRE® . 04, damm M3: M3X0.5
04: ®4mm 05. ©5 M5: MBX0.8
06: ®6mm ¢ @omm ; )
—— : 06: ®6mm 01: PT1/8 —
{msil 08: ®8mm 65. ©6.5mm 02 PT1/4 =8: P14
1 10: ®10mm 75. ®7.5
12. ®12mm H omm 03: PT3/8
: 08:. ®8mm 04. PT1/2
09: ®9mm

UF A ®8 x ©5.58 50/ FABKC08065V IR B @ik,

s Y
7= an i BEREENIIMNERERBYERER
ERAENER 0~10kgf/cm*(0~1.0MPa) = BE BE EEIR S
AE ~750mmHg(10Torr) £ ] hE nE M3 M5 01 02 03 04
{RUEM ] 3.0MPa 04 25 ® ° °
EERETE (O 0~150 08 > e o o
[T 2RIZ26EAN, FIMARERPUEMREN, 08 06 ° ° °
BKC 65 ° ° °
7t 10 75 ° ° °
[ - e = 08 ° ° °
1. BRSNS, T RNATSESDRER; 12 05 ° ° °
20 RBMEENT, OBYSSBARARRTEIRE;
3. BEVIEARTUSBEWMAER, NATEEER ;
4. TERRELERTEENR.
S EBELHE
BKCZ 5 oD T :
OTm « ‘ :
G \:\‘I A
[ | J 7
‘ (@]
H |
L]
R e
BEEOD . . EEZOD . .
S\ S R L | C | K 3G 3aH B8 S\F S R L| C | K 335G ¥iH =
BS\BS BE | AE 318G 3iaH EE(g) BS\HFS nE RE 3G *iaH | E=(g)
BKC0425-M3 M3x0.5 3 | 17 8 4.4 BKC1065-02 PT1/4 | 10| 30 15 25.3
BKC0425-M5| 4 | 2.5 |[M5x0.8/35/1756 5 8 8 4.8 BKC1065-03 6.5  PT3/8 |11/31.5 17 29.1
BKC0425-01 PT1/8 |7.5/205 10 | 7.1 BKC1065-04 | PT1/2 |14[355 _ | . 21 44
BKC0604-01 PT1/8 |7.5 22 10 | 9.9 BKC10756-02 75 | PT1/4 [10] 30 | * 15 24.1
BKC0604-02 | 6 4 PT1/4 | 10|25.5/55| 10 | 14 | 158 BKC1075-03 % | PT3/8 |11/31.5 17 28.9
BKC0604-03 PT3/8 | 11| 27 17 | 22,5 BKC1075-04 8 | PT1/2 14355 21 43.6
BKC0805-01 PT1/8 |7.5| 24 12 | 12.8 BKC1208-02 PT1/4 [ 10| 30 17 30.5
BKC0805-02 5 PT1/4 | 10275 14 [ 17.2 BKC1208-03 8 | PT3/8 |11]31.5 17 32.1
BKC0805-03 | o PT3/8 [11]29 | . ,, | 17 | 237 BKC1208-04 | PT1/2 [14[365| | 21 46.7
BKC0806-01 553 PT1/8 |7.5] 24 |~ 12 | 131 BKC1209-02 9 | PT1/4 10| 30 | 17 30.6
BKC0806-02 ‘6 | PT1/4 10 275 14 | 17.2 BKC1209-03 % | PT3/8 |11/31.5 17 31.9
BKC0806-03 PT3/8 | 11| 29 17 | 23.6 BKC1209-04 10 | PT1/2 | 14355 21 46.4
RESEA
1. SEBNKRBEDA
1.1 BASRE

PRBENSEFESEBALA, REURYRE, BNERFF
MERKERZ KL WE—)

1.20 RESE
RESER, TR XESETIURKRE. (R

2. BBUT NITE
KA BRFRE=FIROEGEKITARNT OF: RFTPERAKL,
BEDITEREBL) -

P4 272




X-ON Electronics

Largest Supplier of Electrical and Electronic Components
Click to view similar products for Screws & Fasteners category:
Click to view products by AIRTAC manufacturer:

Other Similar products are found below :

5721-1440-1/4-SS 0098.0094 0098.9206 59781-6 0098.9212 6292-1 690432-1 699161-000 700989 7230-3 72609-02 CAPTIVE JACK
SCREW 73542-02 CAPTIVE SHORT THUMBSCREW 745564-1 7680 809704-1 8700 8860220 9521 9927/63-3 1-18024-0 A168P1 1-
24921-1 125416-1 1301810313 1-306131-6 1301830042 1458 1-59781-3 18029-4 NBX-10953 NUT-16-3P-HEX-NICKEL 20993.45098
21004-1 21009-4 21014-5 21021-2 CA24037A01 22987-4 240632-1 240632-2 89506-9801 2504 9031 9-1393249-2 2.5NZPNBU 26-
0048PP 27210-1 27210-8 9318 9520



https://www.xonelec.com/category/electromechanical/hardware/screws-fasteners
https://www.xonelec.com/manufacturer/airtac
https://www.xonelec.com/mpn/eagleplastic/5721144014ss
https://www.xonelec.com/mpn/schurter/00980094
https://www.xonelec.com/mpn/schurter/00989206
https://www.xonelec.com/mpn/teconnectivity/597816
https://www.xonelec.com/mpn/schurter/00989212
https://www.xonelec.com/mpn/switchcraft/62921
https://www.xonelec.com/mpn/teconnectivity/6904321
https://www.xonelec.com/mpn/teconnectivity/699161000
https://www.xonelec.com/mpn/otto/700989
https://www.xonelec.com/mpn/keystone/72303
https://www.xonelec.com/mpn/pactec/7260902captivejackscrew
https://www.xonelec.com/mpn/pactec/7260902captivejackscrew
https://www.xonelec.com/mpn/pactec/7354202captiveshortthumbscrew
https://www.xonelec.com/mpn/teconnectivity/7455641
https://www.xonelec.com/mpn/visualcommunicationscompany/7680
https://www.xonelec.com/mpn/teconnectivity/8097041
https://www.xonelec.com/mpn/abbatron/8700
https://www.xonelec.com/mpn/xoncom/8860220
https://www.xonelec.com/mpn/molex/9521
https://www.xonelec.com/mpn/teconnectivity/9927633
https://www.xonelec.com/mpn/teconnectivity/1180240
https://www.xonelec.com/mpn/apem/a168p1
https://www.xonelec.com/mpn/teconnectivity/1249211
https://www.xonelec.com/mpn/teconnectivity/1249211
https://www.xonelec.com/mpn/teconnectivity/1254161
https://www.xonelec.com/mpn/molex/1301810313
https://www.xonelec.com/mpn/teconnectivity/13061316
https://www.xonelec.com/mpn/molex/1301830042
https://www.xonelec.com/mpn/visualcommunicationscompany/1458
https://www.xonelec.com/mpn/teconnectivity/1597813
https://www.xonelec.com/mpn/teconnectivity/180294
https://www.xonelec.com/mpn/budindustries/nbx10953
https://www.xonelec.com/mpn/carling/nut163phexnickel
https://www.xonelec.com/mpn/ebmpapst/2099345098
https://www.xonelec.com/mpn/teconnectivity/210041
https://www.xonelec.com/mpn/teconnectivity/210094
https://www.xonelec.com/mpn/teconnectivity/210145
https://www.xonelec.com/mpn/teconnectivity/210212
https://www.xonelec.com/mpn/panduit/ca24037a01
https://www.xonelec.com/mpn/teconnectivity/229874
https://www.xonelec.com/mpn/teconnectivity/2406321
https://www.xonelec.com/mpn/teconnectivity/2406322
https://www.xonelec.com/mpn/molex/895069801
https://www.xonelec.com/mpn/abbatron/2504
https://www.xonelec.com/mpn/abbatron/9031
https://www.xonelec.com/mpn/teconnectivity/913932492
https://www.xonelec.com/mpn/xoncom/25nzpnbu
https://www.xonelec.com/mpn/apem/260048pp
https://www.xonelec.com/mpn/apem/260048pp
https://www.xonelec.com/mpn/teconnectivity/272101
https://www.xonelec.com/mpn/teconnectivity/272108
https://www.xonelec.com/mpn/kyoceraavx/9318
https://www.xonelec.com/mpn/abbatron/9520

